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Possible answers:  1.1, 1.2, 1.3, 1.4, 1.5, 1.6, 1.7, 1.8, 1.9 

Possible answers:  5.1, 5.2, 5.3, 5.4, 5.5, 5.6, 5.7, 5.8, 5.9 
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4.5cm  &  45mm  



12.5cm  &  125mm  

$70.48 – 30.84 = $39.64   $39.64 + $30.47 = $70.11   
 

First, I subtracted the withdrawal $30.84 from 
$70.48 which equaled $39. 64.  Then, I added 
the deposit of $30.47 to the new balance of 
$39.64 which equaled $70.48. 
 

Pete is wrong.  The longs would represent the 
thousandths.  So he should have counted up to 0.012. 
12 thousandths. 
 


